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1. Saolveth

3. (a)Students are given'marks 0,1,2,3
. .- students getting each mark )

SECTION { {SCMARKS}

ANSWER ALL THE QUESTIONS IN TH!S SECTION

eequation 2°% = 2*¥72 43 " {3marks)

5

2. Giventhat OA:'(;”) and 0B =@ find,  the vector OC such that AC=3AB (2marks) -

¥

4

- [ark”

[ Frequeney |3 . -

(i)

»

if the mean mark is 2.125,find the value of x (3marks)

&



a. ‘Solve the eduaﬁOﬁ o = : S 55 - (3marks)

92y 34y+3 z}

~ Find the values
morks) o

W -



7. Find t’iemtegiaivaiqes J*atsat;sfy the inequalitizs (3marks)

4+10x>6x S<20+7x

’ .. i
N . AR

~ 8. Given that 2 tanwO = x) = - fmd w:thout caiculators ormatnemamcal tables»tno vaiua of

Cos x- Sin'x . (Smarks)

»

10/ Simplify




11 Mr Seneta rides a Bodabode frony his house to wark at an average speed of 30km/h He p:rks
the Bodaboda at the car park and completes the journey on foot at an average speed of 4km/h.

~ The whole journey takes 50 minutes. One day his Bodaboda broke down on the way. He had to

- walk 4 times as far arriving at his office 20 mmutes late. f-“md the distance between his house
and place of work. (3marks)

‘.;'Tiln, Gf‘D and LCM of three- number are 3 and 08 *especm ely. If two ofthcr
are 48 and 72, find the least poss1ble value of the thzrd number S e

13, Cate and Jane worklng together can complete a plece of work in 6days whlle Cate workmg a!one :'I; .
. can. complete ‘the'work i in 10. days The two. worked together for 3 days and Cate wvthdrew, Fmd
the t-me taken »byJane to complete the remammg work. {3marksf T i
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14. A ship sails 6km from S to T on a bearing of 063" and then 9km from T to U on a bearing

of 148° Calculate,

(ayThe anance SU (2marks)

- famarks)
15. James invested shs. 6000 for ’: e a1s at }7% p-a compounded quarterly. Determine:
‘ a) The amount accruing.at Lhe endof 1 ¥ ye zars.
e
b Intercst &
> 16 The mstance S xn metrvs cmered bv a movma pmme :lit timcv tin seconds is given by




.;tSECTlON Iy {SDMAR*’?:‘ ‘

ANSWER /\NY FIVE QUESTIONS u‘J Tr{' SELTION.

E

1"19 dragram below shows a secfor ABC of the circie Cc‘f’ S
AL=0.8 radians. The arc CO of a circle has centre 8 anu

ro A and radius 10cm, in which angle
d tﬂe point D hea on AB

Vo {a) 'Findft._hévle"r}gth'ér"the

line BC, 'Co'rr‘ect to.2 deciméi;pf'a;cefs _,'g‘3rﬁa rks]

n étér‘ofthe:’shadé&frég}fqr? (3mra‘r1§5)' -V



i3, Intriangle ACS, OA=1Z2aand OB=12b. Parnc O

30P=0A and 0Q=

1

OB .M is the mid- point of A3,

a) Expressintermsofaandb
i oM {Imark)

:‘.ii)", PM .

b) OM and BP intersect at R such that PR=
~ hence find the values ofk and h

AT

P8 énd'bMEHOR. Express PR in two ways and

¢} “Show that A,R and are collinear

T

. (4mafi;$3‘ o




19, The diagram below shows a triangle ABC in which A is the point (6,-3).Th'e iine AC passes .
‘through the origin O. The line OB is Perpendicular to AC. ' )

. Find the equation of OB (Zénérks)v' T

K

i the area of triangle ACB is 15 square units ,find the caordinates of B (3 »arvkjs)i

(iii}“ ' Given that the iéngth of QA s three times the length of OC, find the coordinates of C
‘ (3marks)




30, Fourtowns P,Q, Rand S are such that town Q is 120km due east oftowh P. Town R is 160km
due north of town Q. Town § is on @ bearing of 33¢° from P and on a bearing of $80° W from R.

‘Usea ruler and a pair of compasses only for all your constructions.

a) Using a scale of imto reprosent 20km,construct 2. scale drawmg showing the puajt.ons of
P _,.1

PQRapAS o heathn :

”,D} Use the sca%e drawmg to dﬂtermlne

> -

¢} Atown Tisdue north of P and the distance TQ'zT"R. Locate T'hy construction ahd find the
bearing and distance of T from R. (4marks) . ' |

10



) 21. Mike vis‘a sales executive earning a salary of ksh.20,0000 per month and a commission of 8% fdvr"
‘; the sales in excess of ksh.100,000.if in April 2015he earned a total of ‘ksh.48,000 in salaries and

commissions, )
--a) Determine the amaunt of sales she made,in that month’ (4marks)

calculate . _ :
. 'Mikes coramission in the month of May(3marks}

" His totai‘ééi‘»'_ﬁifngi in fhe,rr}idn,thfblf hine(?.h;\é‘rks)j‘.; 'f, o

bif:t‘hé;tdtai sales ir'the month of May increased by 18% and then dropped by 25% respectlvely, R




22. A sector of angle 108° is cut from a circle of radius 20cm. It is folded and fixed to form a
cone. Taking = as %47, calculate:- v : :
a) The curved area of the cone. ' (Zmarks)

b} The base r‘adivusiof'thgcbne.:f : D {3mar.ks)‘

_c)‘ The vertical haight of the cona. = {2marks) " LT AR , )

e d) lf 12cm 'Qf.th'eﬂt::c_ihé. is ghéip;.igd offtoformafrustrum as slﬁo_wnﬂbe!'owA 3

- 12
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- 23. Aclass of 50 students sat. fora test. The fo!lo’wihg table shows the distribution of the marks

marks 20-29 §0~39 40-42 “50-59 60-69 70-79 80-89 90-99
No.of |6 7 8 y 9 6 ° 3 1
students ‘

a) Find the value ofy - (1mark} . -

") Estimate _
. The mean mark (2marks)

-"';»-’:’7‘13‘ RR
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24,y =2x%+ iyx + d is the equation of a curve that passes through {0,-15) and its gradient at x=2

is 22.5. ) ) »

{a)Determine the value of p and d b " (dmarks)

(b} Describe the nature of the turning points of the ciive ~~ (4marks)

= (c)SketChthecurve
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